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QUESTION 1

You must design a small branch office firewall solution that provides application usage statistics.
In this scenario, which feature would accomplish this task?

A. AppFW

B. AppTrack

C.UTM

D. AppQoS

Correct Answer: B

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-applicationtracking.html

QUESTION 2

You are asked to install a mechanism to protect an ISP network from denial-of-service attacks from a small number of
sources.

Which mechanism will satisfy this requirement?
A. RTBH

B. UTM

C. Sky ATP

D. GeolP

Correct Answer: A

Reference: https://www.juniper.net/documentation/en_US/day-one-books/DO_BGP_FLowspec.pdf

QUESTION 3

You are creating a data center security design. Virtual security functions must be performed on east-west traffic.
Security functions must be commissioned and decommissioned frequently, and the least resource-intensive architecture
must be used.

In this scenario, what will accomplish this task?

A. all-in-one NFV security devices with device templates

B. service chaining with container-based security functions

C. a security appliance segmented into logical systems
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D. filter-based forwarding to direct traffic to the required security devices

Correct Answer: A

QUESTION 4

You are asked to provide a design proposal for a campus network. As part of the design, the customer requires that all
end user devices must be authenticated before being granted access to their Layer 2 network.

Which feature meets this requirement?
A. IPsec

B. 802.1X

C. NAT

D. ALGs

Correct Answer: B

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/802-1x- authenticationswitching-
devices.html

QUESTION 5

You have multiple SRX chassis clusters on a single broadcast domain. Why must you assign different cluster IDs in this
scenario?

A. to avoid MAC address conflicts

B. to avoid control link conflicts

C. to avoid node numbering conflicts
D. to avoid redundancy group conflicts
Correct Answer: A

Reference: https://www.juniper.net/documentation/en_US/release-independent/nce/topics/example/ chassis-cluster-srx-
full-mesh-configuring.html#:~:text=1f%20you%20have%20multiple%20SRX,other% 20device%20is%2 0node%?201.
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